FISEIFEARFEEFIEKIBEAE(RKB QERTITT1 IR X2 —

BFl4%, BT124,

I) L —

6BH = =T F38ER | uﬂji@—

AR

ZT

1EB 251807 (4.08)— 28R

27

2E8 B34 (209.55) — 15 F 1%

FiES I (ZF1EB. B F28)

50mB B

T

A+E(Q2) 30.61 EERZ b

A (2) 29.07

(1) 27.18

TEAT(4) 24.15 Y TRIRBHE H Yy

ANINEEB(3) 24.34 dEII%

IVIEFE(D) 26.43 KFEHIRZ B

100mEH=F

TEAT(4) 53.61 Y8R H vy

f1li(3) 56.28

IIETF(L) KA

200m B #¥

ZF | A%

(3) 2:11.45

FA(2) 2:27.99

5¥

AR (4) 2:04.97

INFR(2) 2:02.67 kB 11{I%

400mEBE BE

¥

H(2) 4:56.75 KFEFIRZ k|

5¥

AR (4) 4:29.40

INFR(2) 4:23.21 %101 %

100m#&E X E

¥

A (4) 1:13.66

A+/E(2) 1:21.29

FEQD) 1:12.94 KFERZ B

/iﬁ 4) K1

3) 1:01.13 YeARIRESEH vy

200mE K E

Y8 (4) 2:22.73 % E100I%

(
JIC
N%(l) 1:08.28 £JENR b |
7 (
(

AfR(1) 2:33.31 KERZ ||

EBE(1) 2:34.41 £ERX b

100m¥Fx &

4 AR (3) 1:07.31 % ZFE104%

EEEF'(l) 1:08.96 KFE~NX b |

200mFix &

(1) 2:35.58
(

100mn% 7 Z A

;EJK 1) 2:58.20 KEAINZ |k |
f&A(2) 1:11.09

MA(2) 1:11.41 £ FERZ |
#)1(1) 1:16.41




EH Rl e
100mAR% 75 A BF |4 AKR(3) 58.60 HENRR b | JeAIIREE H Yy
5% (2) KA&
TFE(1) 1:05.35 KEANZ b
200m/NE 75 A BT [5E(2) X%
200mELA X KL — | 27 |8RE(1) 2:29.36
BT |ERE(L) 2:29.45 KENZ K|
REBI (A LRBEEREEED)
Ef= %5 EEES
50mE B B F [HBFF(4) 23.24 S FE 1Rk
100mE @ FBF (HBFF(4) 51.49 FE 1Rk
100m&E X E EF [/JI(3) 1:00.71 %4k
100mNN% 754 BF |14 AR(3) 58.57 AENRZX k | dESHIk
200m7 YU —UL— |BF|IILHQA) - F#E) - E42KRQ3) - @EAT4)
23.84 - 24.01 - 25.14 - 22.59 Total 1:35.58
* E 1k BIokE HENZ B
400m7 U —UL— | &F|TTRQ) - HEHQ) - BR02) - £%3)
58.51 - 1:01.04 - 1:03.96 - 59.06 Total 4:02.57
K15k A > H L2 |
B1kE £ERZ b
ST |/NILEH3) - ERT4) - FH(4) - IWR(2)
54.88 - 50.73 - 54.09 - 53.87 Total 3:33.57 k& 2%
BIokE £ERZ b
800m7 U —UL— | &TF|[Fx%(3)-#HA&2) - FEQ) - EBHQ)
2:09.96 - 2:25.06 - 2:24.26 - 2:21.14
Total 9:20.42
400mX FL—U L — [ ZF|TTR(D) - $H Q) - BARQ) - &% (3)
1:07.05 - 1:19.29 - 1:10.49 - 59.48 Total 4:36.31
BIokE £ERZ b
BT |FHE4) - 4 KRQ3) - ET(4) - IHWR(2)

1:00.20 - 1:06.46 - 54.92 - 54.67 Total 3:56.25 %253k




